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WEST BENGAL STATE UNIVERSITY

B.A./B.Sc. Honours 1st Semester Examination, 2018

ECOACORO01T-EcoNnoMics (CC1)

INTRODUCTORY MICROECONOMICS

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

1 Answer any five questions from the following: 2x5 =10
fofere @-ceic fsfe aieea Ted whes

(a) How the market equilibrium for new cars will change if there is a rumor that next
year’s new car will be considerably expensive?

uﬁwmﬁmwm@ammm&mwm%ﬂ%m,wa@mw
SISl Aicaa Sy & O 2o 2@ 2

(b) Distinguish between change in demand and change in quantity demanded of a
commodity.

i W Bl ofEes @ bifnta s AResEa g A1l [ o

(¢) Calculate the price elasticity of demand for the demand curve Q = AP ©, where P
and Q represent price and quantity respectively.

0 = AP~* R @I TE Bifwia wEsre FEfeReiFer T (@ FE @R 9 9K
P TG SifEwE AN @R W e

(d) The supply and demand for apples are described by the following equations: 1+1
Supply: O, =-30+38P
Demand: Q, =90-2P

Graph the demand and supply curve. What is the equilibrium price and quantity?
AR BifEwl @k et e fasaets

@t Q, =-30+38P
bifewts Q,=90-2P
BifEwl @l @98 Qs @t 1S Sicet | Sy v @ offe ffae s

(e) Rohit likes cars but dislikes pollution. Draw a typical indifference curve in
pollution-automobile space for Rohit.

s MG e S G T Sow 01 MO T CF0 G fFerE =t
o SN
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(M Suppose the total cost function is C=l6+Q2. Illustrate the shape of the
marginal cost function in a diagram.

4@l qE @ 7 @A C =16+ Q. s I3 @Al wigle i @fbeas g
AP AN

(g) Define Consumer Surplus.
CIER Ty IS & @RI 92

(h) Find the elasticity of substitution for the production function Q = AL°K” | where
a,>0.

T ST O = ALK, T4 o, f>0, TE [Famaem Bfozeeor w=
sl e

2. Answer any four questions from the following: 5x4 =20
fasfafe @-cotcat o1afe elesa S wie:

(a) Prove that for a linear Engel curve for any commodity emanating from the origin,
the income elasticity of demand is unity over the whole range.

(e @ @ qUU9 Qe @ AW RGN FEEA W O[O 9d SiEste
R el iR 9 s T[|

(b) The price of X is Rs. 2 for first 200 units of X and Re. 1 for all units purchased in
excess of 200 units. Commodity Y sells at a constant price of Rs. 3. Sketch the
budget set for the income of Rs. 600.

X @a Wi g Rs. 2 2 W49 X <200 4R X 99 W Re. 1 I X @7 T si@wi
200 @3 @ T Y WA VN Rs. 3 (SISR ST Rs. 600 2+, A0S @D %1 3@

(c) “I like tea and biscuits but always avoid consuming them together.” Draw
indifference map that illustrates this proposition.

“wifl ot g [FS oigw *R e @AM @ ew FRA | @3 P @l
faee siafea = st

(d) “A Giffen good is an inferior good but all the inferior goods are not necessarily
Giffen good”— Explain.

“Picea vy 2= e w9 o e FPE w912 Peew w9y <3 —py 36|t

(e) Show that for homogeneous production function the expansion path will be
straight line through the origin.

NS (U (I FASST Teofve ST & IF2Re @4l o1l st yeisetd
HAETCIA =(J )

(f) Construct the average and marginal product functions for x, for the production 342
function g = x;x, —0.2x) —0.8x7 . If x, =10, then at what respective value of x;
will MP of x, be equal to zero?

T SCAFFH ¢ = x,x, — 0.2x7 —0.8x7 LA x, & T 8 2fFs TerAwa SWows
ety et 7 x, =10 2, OW@ x, 9 T T A x, G NG oA 4 7@ ?
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(a)

(b)

(©)

(d)

Answer any fwo questions from the following:
fsfefe - 45 evem Ter we:

What assumptions are necessary for a market to be perfectly competitive? Why is
each of these assumptions important?

aﬁmvﬁaﬁmﬁmmmmﬁsﬁswm?m
AT @G I IR |

Let the utility function and budget constraint is given by u=xy and
100-P.x-P,y=0.
(1)  Find the demand function of x and y.

(i)  Show that these functions are homogeneous of degree zero in price and
income.

[T Tl SoPRe @3 AES @A A u=xy @
lOO—Px.x—Py.y=0.

() xaR y WG vifzw Seorws ey @)
(i)~ crete @ iR SerwS b @R W QR SR @rIeiG e W e
2|

State and explain Slutsky decomposition of total price effect into income and
substitution effect.

o FASACH R A &SR (& ROl S 2ol @38 RIS &SI il 41 11
[ @

Show that if input prices remain constant, long run average cost will decrease or
increase according to whether there are increasing or decreasing returns to scale.
SrmiRefe W weiffaie AR, tele @ AN e < wNE 4t qeE T
AP FIEA 6 TP Geiwa eifenicia Wiat whied 23|

10x2 =20



